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L. InMarch 2025,NASA astronauts Butch Wilmore | 1,  #rel 2025 , 18T % TeHIE qo foemi & gfiar
and Sunita W jams returned to Earth on board Wﬁwmmm%ﬁmm
eeraft named : TS 9
(b) Discovery (b) fewwatt
(d) Challenger
© (d) SR
The 2024 Nobel Prize in Physiology or Medicine ¥ 2024 w1 iSRS a1 AfSRe 1 Hee g
was awarded to Victor Ambros and Gary Ruvkun ﬁmq@qaﬁ{ﬁﬁwﬁﬁmﬁ@a%mﬁm
for discovering : T2

A

(c) Transfer RNA (d) Messenger RNA

In the 2024 Paris Olympics, the men’s freestyle
57 kg wrestling event Bronze medal was won by :
(a) Sarabjot Singh
(c) Akshdeep Singh (d) D.T.Cruz "

Which interné’iional sports event was held in the
United Kingdom for the first time in 2025,

featuring teamys from India and other countries ?

(c) Hockey World Cup
(d) Badminton World Championship

India’s first manned deep ocean mission is

named :

(c) Varunayaan

(b) DIVE India
(d) Vikramaditya
L3
Gons
Which mt)fvi@ﬂll host the 2026 Commonwealth

Games ? f’_a
(a) Birmifigham
(c) Hamilton

Melbourne

In which country was the world’s largest offshore
wind farm inaugurated in August 2024 ?
(a) Denmark (b) United Kingdom

® Goman

() TRl TG (b) AR ARETT |

(c) TEHRANET  (d) AT

2024 i@ HAwifs @ & 57 G ot § g
SISt el ST Tt 2hT ahTear v fort Srar forarm

T ?
(a) TSI g
(c) orerdig fdiE (d) S F

2025 # gt IR IATEeS fohen H siA-ar Sfaisiy

QT IS fomar T o, fsret i iR = ST eht
aﬁrﬁﬁﬂmﬁmv

(d) wefre R AftgmRe i
WA % SH HHagad ST A R 1 A
37

(c) <RUE (d) fesmrieer

2026 % USTHUSH Well o1 RS forg et o
B ?

TR 2024 # T % U@ 71 1qate 75 B
351 forw S fpam v 2

a) STHTh (b) TS febrem
@ o
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8. “Aqua

(b) Concentrated F ® H.,SO
(c) HCl and HBr
(d) HCI and HF

9. Which of the following is correct ?

19
(@ 1metre=10 nanometre

90
(b) 1metre=10" nanometre

(¢©) 1 metre=10" nanometre

(d) None of the above

EIE
G
10. Which of the following is nof a luminous object ?

(b) Sun
(¢) Electric lamp
(d) Flame of candle

11. The type of mirror used in the headlight of a car
is :
(b) Convex mirror
(c) Plane mirror
(d) Plane convex mirror

12.  The distance at which the average radius of Earth’s

orbit subtends an angle of 1 arc second, is known

as:
(@) 1 astronomical unit

& 1 ]jght year
(d) 1 Fermi

13. Which of the following pairs (Fat — Oil) is not
correctly matched ?
(a) Vegetable fats — Phytosterol

b) Animal fats — Cholesterol

¢) Mustard oil — Lubrican

" (d) Mineral oil — Petroleum

Regia” is a mixture of which of the | §, Ve WRmr FrerfrRed & & Ry fsor s ¢

a) Concentrated HCl and Concentrated HN l
and

a) E% HCI 3T HNO,

(b) EFX HCI 3R % H,S0,
(c) HCI3 HBr
(d) HCIWRHF

9. frfafeaddsarodido

10. freffaa 3 & si-ar S e 7272 9
(b)
(0) fergaiv
(d) Wt <Y Serre
R A TSRS o ITANT R ST a1t 90T 3H7 STHR
3 &

(b) T qUYu s

(c) Gwaerguor
(d) G ST gdur _
a8 T S v qosft <t shear st sftaa e 1 o1
YHUE HT IV IR et 8, e 2 -

(a) 1 @MeT A

(b) 1.9HISTaN

O

11.

12.

B35
l‘%
Bl

13, Fretefea ot @ 3o & & - g
TR ? .
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14, Which one of the following is a landlocked | 14, Fr=fafag & & F-TT T We-Tg (ASATS)
harbour ? 3
MG & ? o
(a) Ennore e i S
(c) Mumbai d) Haldia @ : s
(© T8 (d) 2
15. According to Census 2011, which of the following | 15, 2011 I SFFUFET % FTER, feafRea o fFass
Union Territories has }the highest. population mﬁﬁmﬂﬁlﬂ@?mﬂaﬁﬁ% 5
density ? Lol '
(a) Lakshadweep l,
(b) Dadra and Nagar Haveh
Daman and Diu
[G]' d
16. Which agro-climatic zone in Uttar Pradesh is most
vulnerable to climate change impacts, particularly TET, ﬁ;ﬁw F & wfer wow AR Haeasher
in agriculture ?
a) Bundelkhand Zone
b) Central Plain Zone .
(c) Eastern Plain Zone _
(d) Western Plain Zone. Bl
17._
(c) Plastic waste management (c) weftesh SRS Teer
(d) Industrial emissions control (d) enfives Seesiq FE
18. The ‘hydrological cycle’ is controlled by : 18, “STelt <R’ frifasa®:
(a) Epiphytes | (b) Forests | (a) SRrTET
(c) Lichens (d rassland (c) AR (d) eI
19. Which of the following states of India has the | 19, sy FreTfREd & & 1A Twa i Sooraw ST
highest density of populatlon ? e YT 2
(a) Bihar Pun'ab _ o~y
(c) Madhya Pradesh | fo), Tt O
(c) W& W
20. The name of the sc:gn_tlst who proposed the | 5q et st “q@ SfTa T R 2 ATe AS(Eh 3T A1

“Ten Percent Rule” of energy is :

\(2) Lindeman ) (b) Odum
¢ ansley (d) Haeckel

21. Plants that tolerate a wide range of temperatures

throughout the year, are called :

(¢) Microthermal

(b) Stenothermal
(d) Hekistothermal

L

(ORI S—

(c) o= (d) THa i‘ﬁ

21, 3 Aer <t o o 3 e o O o foreaw it W
A E, P E

o=

sl

©) aee

(b) T
- (d) hrerda
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22.  Consider the following events and arrange them in | 22, RrfeiRed TR W f=w Hifvte ot 37w

correct chronological order : Wﬁma&qﬁﬁﬁq .

I Cabinet Mission I Hfeee fimm

II.  Cripps Mission 1. freafime

IMI.  Quit India Movement I WE&E‘\T T

IV. Mountbatten Pl - sk f

ountba an v
Select the correct answer from the codes given
below :ﬁ%ﬁq"lqﬁﬁﬁ'ﬂﬁm'ﬂﬁlﬁﬂ?*”?ﬂﬁ

23‘

) _Onlyl |

24,

) LT

¢) BothIandII

(b) IV, L 1L, I
(¢ ILLILIV
(d) I IL I, IV

Consider the following statements :

I. The first Muslim President of Indian
National Congress was Badruddin Tyabji.

Il. The first woman .President of Indian
National Congress was Sarojini Naidu.

Which of the statements above is/are correct ?
a) Only II

(c) BothIandII
(d) Neither I nor IT

L

With reference to ‘Ajivika Sect’, which of the
following statements is/are correct ?

L. Ajivika sect followers mostly lived in forests.

IL. This sect enjdyed great respect during the
Maurya era.

Select the correct answer from the codes given

below :

(a) OnlyII
b) OnlyI

(d) Neither I nor

23.

24,

“(b) IV, I, IL 1T
() ILLILIV
(d) I IL I, IV

EI'iEI
=
[Elnses

5y

s

I
Pty
i3

Tftem ateme |

1. SRS ATrg et TS shidre o veeft
e Teare off |

SRR 7 W H-TT/A he e /3 2

(@) FEAII

(c) I3 meEs
(d) FAMLTALI

s W % wad §, fefife § @
- ShI-ET/A O TE /8 2 |

I~ ATSTiTerh UG o @R 9T 341 8 @ O |

1. 59 GSarr &l Hd m # iy wr ae |

et fow e e & & S oh = iR

(d TRLIDI
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25. In a code language, “tob iso har” means “Tobacco
is harmful’, “avo har hab” means ‘Avoid harmful
habit’, and “ple avo tab” means ‘Please avoid
tobacco’. Which is the code used for ‘habit’ ?

| () hab | (b) har
c) avo (d) tob

26. A bag contains¥ 5,%2 and ¥ 1 coins in the ratio of
3 : 4 : 5. The total value of all the coins is
¥2,100. How many coins of T 5 are there in the

bag ? =
A 1 ' ‘__...i .

(c) 245 o) s
(d) 250 %?5

27. Find the missing nmhber :

4 6 7 '
VANGYANYAN
6 5 35 4 6 3
(c) 67

(b) 55
d) 86
28. In a queue of boys, A is seventh from the left and
B is fourth from ithe right. When A and B
interchange their -positions, then A becomes
fifteenth from the left. Find the position of B from

the right. -
\ () 12th | (b) 17th
£ Wi (d) 19th
29. Find the value of x, if :
2%3=11,
3%5=23,
andx *6=41.
a) 4 ®) 3
tf E:s @ 6

30. Intel Corei9isa tyge of

(a) Motherboard: [(9
d) None of the above

(c) Hard disk

25. T % 91T H, “tob iso har” %1 37%f § ‘Tobacco is
harmful’, “avo har hab” T 319 § ‘Avoid harmful
habit’ 37 “ple avo tab” T a1 ® ‘Please avoid
tobacco’ | “habit % foTT @iF-8 ECRREN orem
2?2

C) avo (d) tob

26. TEdANTS T2aT 1 HRFH3:4: 5% I
¥ | ondt Rt o el eI T 2,100 3 1 AT TS5
fohe foresh & 2

b 210
(c) 245
(d) 250
27. T HEAT I AT :

4 6 7
VANIVANWAN
6 5 3 4 6 3

(c) 67

®) 53
@ 86

28. S!Sl U URRR H, ST 7R A Wide T WA Tl
=l ST Y NS T W B ST R | 57§ A TAT B I0H
F 79T T TE O €, A A oY ST 159 T
RS | GRS A B 1 T 1 hifve |
a) 12at (b) 17at
(c) 209 (d) 193t
129, x o1 W T4 T, Afe
2%3=11,
3*5=23,
TWx*6=41%|
a) 4 3 g
-~ S K
30. i9 T YehT T 2l
(o) wewE @
() wEfeeh (d) SHIF IS T




%% T UNHSIV-01
31. A MAC (Media Access Control) address is |31, usfis (i v Fegier) e forea =t
. bits long. 2
®) 32
) 64 d 128
32. Which one of the following Chola Kings |32. fr=fafea & & fre =er ver 3 Ba=m & S0 fi9ar
destroyed the Chera navy at Trivandrum and then i T2 e efit fse UigAT TSI i Uhs for
captured the Pandyan King ? o9 o
(a) Rajendral @ 5
Rajadhiraja ®) 2
(d) Kulottunga ORIl kil
(@)
33. The famous Battle of Haldighati between Akbar | 33. RS ST HRIUTT AT o Hea ST, searene! &1 I
and Maharana Pratap was fought in the year : ST AT AT ¢ '
() 1597 AD. D 1576 A.D. g g

34. Who among the following assumed the titles of
“Yamin-ul-Khilafat” and “Nasir-e-amir-ul-
Momineen” ?

(a) Balban

(b) Nasiruddin Mahmud

(c) Firoz Shah Tughlaq - —

i A launddin a_]l O

35. The grand stupa of Amaravati was built by the

(a) Maurya dynasty

(b) Satavahana dynasty

(c) Shunga dynasty
(d) Vakataka Dynasty

36. Which of the following is met an Operating
System ?
(a) Linux (b) Unix

d) Microsoft Office

(¢) Windows

34, Fefifes § & Ry <ai-sa-Raemea i
(a) =
(b) R wEE
(c). AT 2118 TR

35. STUS % wou & 1 Fafor

SHURIT TRT T |

ORICESEL]

(c) U
e . ElEE

(d) S T =

36, Freafiaa i & 207 SR R 787 2 2
@ formw ®) I
(c) TR HIgShIETIE AT
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37. Given below are two Statements, one is labelled as | 3 D owuw g @ § Fmd & ™ W
Assertion (A) and other is labelled as SRR (A) 3 TE Y BT (R) FETTETR |

38.

39.

“®

Reason (R).
Assertion (A) : In photosynthesis, the radiation
energy of sunlight is converted into chemical
energy and stored in food materials.

Reason (R) : The final product of photosynthesis
is glucose sugar, which soon turns into starch.
Select the correct answer using ,the codes given
below :
(a) Both Assertion (A) and (R) are true
and Reason (R) is the correetexplanation of
the Assertion (A).

but Reason (R) is not the correct explanation
of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d) Assertion (A) is false, but Reason (R) is true.

Match List-I with List-II and choose the correct
answer using the codes given below :

List-I ListIT
(Natural Source) (Acﬁ)’
A. Viregar i Meﬂi&rwlc acid
B. Tamarind il. Lac@f acid
C. Sour milk (curd) iii. Acétlc acid
D. Nettle sting iv. Tartaric acid
Codes :

a) A-iii, B-iv, C-ii, D-i

(¢) A-i, B-iii, C-iv, D-ii
(d) A-iv, B-i, C-iii, D-ii

o

AR
LSO [

Tt

What is “Hydroponics’ ?
(a) Grafting a plant

3710

Growing a plant without so1l .

(c) Study of vegetables

(d) Soil conservation

38.

39.

NI (A) : TGN F, TF & TR hi
faftrtor et w1 TErERE S T SaeeRt §Te vaTt
7w ST R |
FRO (R) : TohINI-GTANT 1 A IR TEhr
i &, i For sfie i aife (W) A sea o R |
m%ﬁan{ wmmﬂﬁwwaﬂ#aﬁﬁq
TR (R) &M 4
HIT (R), AT (A)aﬁrﬂ't?rmm

W(R) awﬁﬁw (A)Eﬁﬂ%“fsqmﬂﬁ
e |
(c) AR (A) e R, T VT (R) T € |
(d) IR (A) T B, T FRT (R) T E |

Felt-1 ol 11 & e shiforg i e fag T e
<HT ST R TET Fe I :
g1 A1
(Tl @) (@)
A. e AIHTEH T
B. ol i, e It
C. T3 (3w iii, WEifesm 3w
D. fgqdimss iv. e I
e

A-iii, B-iv, C-ii, D-i
A-ii, B-iii, C-iv, D-1
A-i, B-iii, C-iv, D-ii
A-iv, B-i, C-iii, D-ii

()
(c) ek
@ =

ETESI e T T ?

(a) YT T SETHT

(c) GifesrT st STETA T

(d) T&T EET
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40. Consider the following statements with reference

to world population :

I.  Brazil has the highest population among the
South American countries.

II.  Asia continent has the highest growth rate of

population,

Africa is the most densely populated
continent of the world.

III.

Which of the above statements is/are correct ?
(@) OnlyIl

(c) BothIandII

(d) BothIand III

41. Which one of the following separates Tasmania
from Australia ?
(b) Tasman Sea
(c) Magellan Strait
(d) Great Australian Bight
42. Which one of the following pairs is not correctly
matched ?
(Plantation Crop) ~ (Name of Country)
(a) Rubber - Malaysia
(b) Cocoa —  Nigeria
(c) Tea —  Sri Lanka

d) Coffee - Uzbekistan

43. Which of the following commodity has the
greatest share of Indian exports ?

(a) Mineral ores

5
Elrer

(c) Handlcraﬁs _
(d) Agricultural products

" 44. The year 2036 will have the same calendar as that
of :
(@) 2007 (b) 2006
(c) 2008 () 2009

40. ﬁﬁm%w&ﬁnﬁﬁﬁmmw

e :

L wfier afofi s
mwram%l

Hqﬁmqgl?ﬁqaﬁaﬂmmqﬁga
TR |

1. 3shieht forger =t wariieres aom sar merda & |
ST | A H-EA e B/ 2

a) had I
(c) I%Ha’ﬁﬁ

(d) 13 ImmEt

42. FrefeRa gt & & -ar o wd ghfera 781 R 2

(ST i) (@1 1 77)
(@) e - wAREm
(b) FrFeT (@) - msfrﬁm
© = -

[&}]

43. ﬁn%ﬁaaﬁﬁﬁ;aaﬁfm%wwfﬂaﬁuhﬁ
TR € 9 ‘*“”33
z';::‘

(a) @ Faw=s

(c) TERET 5

@ Fhisem i
44. T9 2036 T HlST TG BT, N IHE -
(@) 2007 =T (b) 2006 T
(d) 2009
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45.

46.

47.

48.

In the following question, select the related word
pair from the givenalternatives :

Tuberculosis : L@gs : : Typhoid : ?

romoma [
(c) Lungs v« (d) Brain

Which one of the following figure is different from
the rest ?

@ N (b)
3
W,

In the following Kg‘ure, what number will be at the
place of the missing number ‘x’ ?

24| 2
613
(@) 16 2 () 18
o B £
AR 5

TR ]
L S

Nl

In a code IangLaLge, ‘MISTAKE’® is written as
‘9765412° and ‘NAKED’ is written as ‘84123’.
Then, in the same language, how will
‘INTIMATE’ be written ?

(b) 897866145
(c) 79438163
(d) 78698365

45.

46.

47.

48.

Preferfea e &, R e feeredt # & weiftra e gm
T
aﬁﬁﬁ:m::m@:?
® T
(c) %%S (d) ARawh
fAeferRaa sl § A w-dt AT A R § 2
® | /\ ®)
(c) (d)

Frafafes fom 4, g@ @@ < % w0 | aA-d
HE&AT @AY 2

(@ 16
(¢ 29

(b) 18

forelt e st # “MISTAKE® %1 ‘9765412’ foran
SITAT § 3R “NAKED’ @ ‘84123’ for@r s @ | &t
‘INTIMATE’ ! 38t 97e7 # 378 forar simarm 2

(b) 897866145
(c) 79438163
(d) 78698365
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49. Match List-I with List-II and choose the correct | 49, oft-1 =t -1 & gafera AR ot A9 ey e

answer using the codes given below : T IR q;{‘gﬁﬁiﬁq .
Lfst-f LLS'I—.H. W_‘r aa?_lf
A. Iqta i. A portion A. ST i TEaE
B. Mahrousa ii. Land under state B. weler i TS ST 35 ST oy
administration C. wifrar i £
C. Khalisa iii. Land revenue D. R
D. Shiq iv. Protected town
Codes : - xe:

(a) A-iii, B-i, C-iv, D-ii

(¢) - A-ii, B-i, C-iv, D-iii (¢) A-ii, B-i, C-iv, D-iii

- - e . ‘ m
(d) A, B-ii, C-iii, D-iv =i (d) A-i, B-ii, C-iii, D-iv i

e

: fkd
50.  Which of the following statements is/are correct in | 50, SRR A Gy (1846) & et o Prefafes § @

the context of the Treaty of Lahore ( 1846) ? aﬁq_m/&m:rgg"[%/% 2 E""
4 I.  The Maharaja left all his territories beyond I HEETY EE] q?ﬂ-%;mq: B T U TR
- the river Satluj forever. : Hea & e e R |

Il.  The Maharaja left his rights over all the Il Haqs IR A AfET F i % oft @it ue
forts between the Satluj and Beas rivers in HEWIST 39T ARG HUt F ey % B
favour of the Company. _ o ' '

II.  The English army could no longer pass 0. 3OS 8 o R s § Ts‘f TSR Al
through the Sikh State. “off |

Select the correct answer from the codes given :ﬁ—.;'fﬁqqq HE ﬁﬁqﬁwwaﬂq Fifsm

below: . =

®) OniyI M, e &

(c) I Iland I (©) LIRI -

(d) Only II and IIT ‘ ©(d) Ed IR I
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51. Which of the following is the correct chronology

of the given events ?

(a) August Offer, Cripps Maission,

Conference, Cabinet Mission Plan

[ Cabmet Mission Plan,

August Offer, @gpps Mission

(c) Shimla Conferi%e Cripps Mission, August
Offer, Cabinet Mission Plan

(d) August Offer, Eabmet Mission Plan, Shimla

Conference, Cripps Mission

Shimla

52. According to which Article of the Indian
Constitution, — “No citizen shall, on grounds only
of religion, race, caste, sex, descent, place of birth,
residence or any of them, be ineligible for, or
discriminated against in respect of, any
employment or ofﬁcwd&r the State” ?

Article 15 (JJ (b) Article 16(4)

c) Artcle 16(2) N, () Article 17

Y
53. In which part of the Indian Constitution, have the

provisions for elections been made ?
\(a) PartXV | (b) Part XIV

(c) Part XVI (d) Part XVII
54. Who was the first speaker of the Lok Sabha ?
(a) RaviRai (b) Balram Jakhar
(¢) MiraKumar  § (d) G.V.Mavalankar
ESE
ol
55. Which of the following pairs is met correctly
matched ?
(Fundamental Rig ts) (Articles)

nght to -___. om Articles 23 — 24

(b) Rightto Equaﬁ-ty . Articles 14 — 18
(c) Cultural and ' : Articles 29 - 30
Educational
Rights
(d) RighttoFreedom : Articles 1922

ﬁw%f@aﬁ%ﬂqmﬁn%mraﬁwaﬁ

51,

(b) Pmer adiew, Hfome e dwmn, o

weara, farea forem
(c) Bmem uwiem, frw fiem, e W,
Hfsre forem Femm
(d) TRa FE, hfee fEm awmn, Rwer
- aee, forew e
52. Tl HioreT o R STge % 1A, — “feelt ot
TR Sl et e, HerasT, ST, fef, s, S,

Forarmer = st @ forelt oft STTer W TS & evefi fonelt
oft s 37 v & deier 3 v A SeuET St A
I 1 v TR feharT StTem” 2

(a) 5% 15 (b) 3IT=RT 16(4)

\O)_E=R16Q) ) @ =<1 g
53.  WITCelte e o o st A et weft s fag

(c) IMXVI(16)7 (d) MFTXVII(17)®
54. e QT % T STeE (SfiRT) B 9 92
(a) W (b) TR &S
(c) HRTFAR (d) SITHT Freeist

55. Frfafed # & FH-a1 I w2 grfea 787 8 ?

T ————————
(©) veplamBem . FFWT29-30
(d) woAaT T ARBR TS 19 - 22
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56, Introducing Shyam, a lady said, “The father of his
father-in-law is my father-in-law.” How i is Shyam

related to the lady ?
(a) Husband (b) Son
(d) Father

57.  Ashish leaves his house at 20 minutes to seven in
the morning and reaches Kunal’s house in
25 minutes. They finish their breakfast in another
15 minutes and leave for their office, which takes
another 35 mlnutes to reach. At what time do they

leave Kunal’s house to reach thelr office ?
(a) ?.20 AM (b) 7:40 AM
C 45 AM (d) 8:15 AM

58,

The final of the World Chess Championship 2024,
was played between : _

(a) Viswanathan Anand and D. Gukesh

(b) Dmg Liren and Vladimir Krammk

59,

58.

S6. TR T IR 3 §Y, Teh AT 3 T, 57wt
o 3R T & 1 v o 9w e & wmwey £ 2

(a) ufi-” b) T

' : (d) foar

57. TS g W aw F o B 9oy W Q
ﬁmm%aﬂtzsﬁqzﬁgﬁuna%mqgam%l%
I 15 e # SToaT v wer e  oii e
il 3 forg femer s &, Sl gen # 35 e ot
mﬁ%l%mﬁaﬂﬁ;@rqgaﬁ%%qm%mﬁ
%amﬁwﬁ? .
(a) ¥mE: 7:20 (b) W 7:40

ST 7:45 (d) W 8:15
forear St R 2024 %7 Breer Ry T
(@) TorEReA e Oe &, e
() %r?ﬁiwqaaaﬁs‘]tﬁtmﬁaﬁ

Find the missing number : 59. e HEAT I i |
17 18 13\/14 19Y4 17 18 13 14 19 4
1225 729 ? X Y
EE
(© 529 @ 641 @i e B
60. A family consists of six members P, Q, R, S,Tand | 60. T wReaR # ®: gaw p, Q R, S, Taa U® | yRar

U. There are two married couples. Q is a doctor
and the father of T, U is the grandfather of R and
is a contractor. S is the grandmother of T and isa-
housewife. There is one doctor, one contractor,
one nurse, one housewife and two students in the
family. Which of the following is definitely a
group of male members ?
@ QU,T

© QUu,rpr

) U, T

YT __'"_'_"WW

T3 forafea R € | Q u Sen ® af T R R |
U, R 1 7T 5 37 98 Th SR 81 S, T ot &
aﬁtagqaﬁq%uﬁ%iqﬁani’r@m T SR,
T T4, Wﬁ%ﬂﬂwa‘rwﬁlﬁﬁrﬁﬁaﬁﬁ

ﬂq-mﬁrﬁaawﬁgwam €7
@ QU,T L QU |

© QU,P d UT
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61.

62.

63.

65.

66.

67.

68.

Which one of the following has received the Major | 61.
Dhyan Chand Khel Ratna Award 2024 ?
(a) AnnuRani '
(b) D.Gukesh
c antika Agrawal
(d) Sukhjeet Singh ¥ T E{

In 2025, how many individuals vg‘;gre honoured | 62.

with the ‘Padma Vibhushan” award 7,
@5 (4 |- 6

Padma Bhushan 2025 awardee for Science and
Engineering, Vinod Dham is known for his role in
the development of :

(a) RISC Computing (b) SPARC Systems
(¢) ZiLOG Processors {C e Pentrum Chip

What initiative did the Indian Government launch
to encourage climate-friendly lifestyle choices

among citizens ? o5
(b) National Mission for Clean'Gif_i%a
(c) Swachh Bharat Abhiyan 2

63.

64.

SreferRad i O e HT S e Tt T JEEhT
2024 firm 2

(a) ¥ -

P

(c) et et

(d) e i
ﬂzozsﬁ,mﬁaﬁaﬁﬁwﬁw’wﬁ
e fomaT T 2

@5 (b4 ;% @ 6
¥ 2025 ¥ fomm @ % % &1 T T ¥

e Frve e s e & e ffie
T TSI E 2
(a) RISC OFT

(d) Green India Mission (d) et wee o
India’s Chandrayaan-3 made a soft landing on the | 65. T % T=A-3 T =SHT T e SfET w0, e
moon, making India the country to do T O FHT STt - YT AT
s(; Third (b) Second o 0
EEREAEE)

(d) None of the above @ =
e Tok Sabha Elections 2024 were held in bow | 66. i @M1 i 2024 e = o UI A
many phases ? g ?

B g T
(5] "Sphases @ 9phages © 8 (d) 9=
Which one of the following isoan Export | 67. frefefad # § - Frata SR (FaRi) &
Processing Zone ? e 29
@ peli @ fch
(c) Kanpur (d) Bengaluru () HAT @ o

When was the ‘Zero Poverty Campaign’ started by | 68.

the Uttar Pradesh Government ?

(b) 15 August, 2024
c b January, 2024 (d) 26 January, 2025

(c) 2657 a,2024  (d) 26 S, 2025
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69. Match List-I with List_—II and choose the correct

answer using the codes given below :

List-I
- (Name of List-IT

Biosphere (Location (State))
Reserve)

A. Manas i. Meghalaya

B. Similipal ii. Kerala

C. Agasthyamalai iii. Odisha

D. Nokrek v, Assam

Codes :

(8) A-i, B-ii, C-iii, D-iv
(b) A-iv, B-ii, C-iii, D-i
(€) A-iv, B-iii, C-ii, D-i

(d) A-ii, B-iii, C-iv, D-i

70. Which of the following pairs (State — Name of the
Coal field) is not correctly matched ?

(State) (Name of the Coal field)
(a) Madhya Pradesh — Singareni
(b) Maharashtra — Wardha Valley
. (c) Chhattisgarh — Korba
(d) Odisha — Talcher

71. Which of the following pairs is mot correctly

matched ?
(a) Chennai — Artificial Harbour
(b) Visakhapatnam  — Natural Harbour

(c) Kolkata — Deepest Harbour of

India

(d) Tuticorin — Fishing Harbour

69. -1 P gEfl-11 & ATt AR o A e me e
A ST o S R

l-I
-1 v g
‘,93,‘ ”W“EWH)“E” o (cTERafa @)
A, 9 i e
B. fuftefue i, e
C. IS iii, anfEm
D. AR Civ. oW

e

R

£

(d) A-ii, B-iii, C-iv, D-i

70. Tl 3ot (@sa - FEEr & w1 A § ¥
-8 Tl gAfera 78T @ 7

() (BT & 1 71

71, Teferiea gl & & Hi-a e v ghka 78§ 2
(a) == - gﬁmﬁm&m
(b) FremETE™ — VITeherR TSR
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72. What was the Flscalf}ﬁealth Index of Uttar Pradesh 72. a9 2022 — 23 T 3T T2 F TSR TETee
in the year 2022 — 23 Terenieh (Rrerer dou $8a) fohaer o ?
(a) 37:0 7y (b) 479 (a) 370 b) 479
5___.,E 3 /
© 350 ] © 350
73, Tn2023— 24, which state was the leading producer | 73, T ¥ 2023 — 24 F T TST T S Il
of food grains in India ? IS 9T ?
(a) Madhya Pradesh () e TR
U Plln'ab .q-G"a.
¢) Uttar Pradesh m @
(@) Maharashia . Bl
T (d) WERIS:

74. Inwhich year was thel Uttar Pradesh State Organic
Certification Agencﬁigabhshed ?

(a) 2011 e 2013
(c) 2005 W

When was the ‘Kisan Mitra Yojana’ started in
Uttar Pradesh ?
18 August, 200

(c) 18 June, 2001

Which cash crop is the major contributor to the
agriculture economyu of Uttar Pradesh ?
Cotton i (b) Wheat

s a
c) wsugarcane

75.

(b) 18 August, 2010
(d) 18 June, 2010

76.

o 3 (d) Maize

“Operatlon Kayakalp« ischeme launched in Uttar
is related to': -

71.

Improving l:ugher educatlon
Promoting skill-based education
Expanding university infrastructure

78. Consider the following figures :

2 6 3 ?

80 | 24 120 | 36

What is the missing number ?
a) 8 ) 7

© 0 @ 10

(a) 2011 b
(c) 2005
75, SR Rar et AT e E AR 2
(a) 18,2001  (b) 18 37T, 2010

(c) 183, 2001 (d) 185, 2010

76. IR SR i Fr rvforereen # o ToRdY wEA Al
eI AT § ?
) T

) RIE

77 wmﬁwaﬁﬁ“mw ST

(c) mamﬁaﬁmﬁmém
(@) Freafreme 3 e @i o feredr e
78, TS Tt o R RN ;

2 {] 3 id
80 24 120 | 36
T T HTE ?
a) 8 ®) 7
o 9 | . (@ 10



B *q7* UNHSIV-01
79.  Which one of the following Union Territories of | 79, 2011 %t SFroFT 3 st 3 RreiRifad e s
India had the highest literacy rate in 2011 ST & & forueht wrerar @t Ieuay off 9
Census ? .
a) TeNe
a) Chandigarh
| (b) Lakshadweep
Daman and Diu (€ =
(d) Andaman and Nicobar Islands (d) TUSHR 3R iili‘;'a't % e
80. ‘Yela Mala’ is the name of which of the | 80, ﬁmﬁf%aﬁﬁ%a‘éﬁmw AT WA § 2
following ? WW@'&T
a
(a) Garo Hills * @
| (b) Cardamom Hills

(c) Anaimalai Hills .
(d) - Shevaroy Hills E’i‘%
Which one of the following pairs (Tree — Area) is
not correctly matched ?
(a) Teak — Western part of the Indian Peninsula
Sundari — Sundarban Delta
(c) Deodar — Nilgiri Hills
~eastern parts of the Indian

' Peninsula

81.

82. Which of the following is a local storm of Bengal

and Assam, useful for tea and rice cultivation ?
(a) Blossom shower
b) Mango shower

(d) Karaburan

83. Which one of the following pairs is not correcﬁy
matched ?

(Mountain
Pass)

(@) NathuLa -
(b) ShipkiLa -
(¢) ZojiLla

(d) SinLa -

(State)

Sikkim

Himachal Pradesh
Arunachal Pradesh
Uttarakhand

(d) TR vt

81. frfafed gwi (g& — &) § & Swr @ wd
Hafea 7R 2
(a) wﬁq uﬂaﬁamﬁﬁmwf‘mﬂuw

(d) @rer— muﬁzzsrr&aﬁcr B cikiu

82. ﬁnﬁﬁgaﬁ@rﬁq-mwﬂawmamﬁ
EIEEECEIRCHEANMSIEHECE 3

(a) SHEH Tt
- (b) HW TR

@ g B

83. ﬁm%%ayﬁﬁ&aﬁqmwmﬁgﬁ%ﬁ?ﬁ%?

(@) rqar
(b) Rrhran
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84, Which of the following is mot a beneficial | 84. Rrerferiae & & SIF-97 U ARl i T8 § 2
i (a) iifisa A
(a) Bombyx mori Sfra A
(b) Apis mellifera ®)
(c) TR Rl
Laccifer lacca ¥

d) Helicoverpa a m %‘%

85. Consider the followmg statements with reference
to the 16th Finance Commission : :
I. The Commission was constituted on 31st
December, 2024.

II. Shri Arvind Panagariya is its Chairman.
Which of the above statements is/are correct ?
a) Only Il ~_(b) OnlyI

(c) BothIandIl = (d) Neither InorII

00

86. Which one of the folléf{;r:_j’ng is a correct match ?
(a) Grow More Food — Jawaharlal Nehru
: Campaign
(b) Etawah Pilot — Albert Myre
Project
(¢) Co-operative — Mahatma Gandhi

Movement

(d) Sevagram Project — Vinoba Bhave

The Destructive Inseci;& and Pests Act (DIPA) was
passed in the year P

(a) 1929
() 1946

87.

) 1057

Which of the following chemicals is used to hasten
ripening of fruits ?
(a) Malic hydrazide

(c) Cycocel
(d) Indole-3-Butyric acid

85.

165 for 3T 3 wew #f Frerferfaa st w fomm
HifvT :

TN o1 T3 31 fEeR, 2024 i gIAT AT
1L i Srfere T 36 STeaE & |
ﬁ@rﬂwmﬁwaﬁ%ﬁ?
(b) FHaAl
(d) FNLALD

() 13

86, FrfRed f & Fi-81 T w8 gAfea © ?

(a) AR FT IR — AT AE®
AR

(b) TEETIRRIE I WA
FRISE '

(c) wepIiarTRe — HeEwHT el

(d) YammufEsAr - fAEraE

87. frmmEr i ik dew siffrm @ amgdie) a

_ Huf@gen
@ 129 _

() 1946 (d 1957

88. frmfiiad # & HF-AT TR Bl i I GHH 6

forg e S ® 2
(a) AT TSRS

(©)
@) Fer-3-sgRR URe
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89. Who presided over the first session of All India
Trade Union Congress at Bombay ?

(b) S.A. Dange
(c) B. Shiva Rao
(d) N.M. Joshi

- 90. Which among the following was not one of those

states which were annexed to the British Empire
by Lord Dalhousie on the pretext of the ‘Doctrine

of Lapse’ ?

(a) Nagpur

(b) Satara

c¢) Jhansi E;E
d) Karnataka 4

91. Who was the Governor General and Viceroy of
India at the time of the formation of the Indian
National Congress ?

(b) Lord Ripon
(¢) Lord Lansdowne
(d) Lord Curzon

92, Who established the Central Hindu College in
Banaras, which later emerged as the focal point of
Banaras Hindu University ?

(a) Bal Gangadhar Tilak
(b) Madan Mohan Malviya
(0) - Annie Besant |

(d) Swami Dayanand

93. Where was the first session of the Indian National
Congress held ?
D alcutta
(¢) Poona
(d) Lahore

89. wr=id ¥ fewr Wil 3= gfew wRm F U

TR oht Srezreran fome <l oft 2
a) T SATSTId U

(b) wWT .3
(c) . R >
(@) T SEh {}':‘

90. FrafRad § & F-a1 T A & GRafer 78
o1, S ©ite Serers g ‘saura HAifer & swe ffer
ST fien g e o 2
(a) AL
(b) wawT
OB

91. WA KT HHF & TS & T WRd &

®) Sre v
(c) Wie TS
(d) TE wwiT

92. TIRE FH Ugwl fog diwe, SN W& H SHRE
fog forarferemera o hes-forg o w9 o | o1ma,
T foper sy oft 2
(a) @ TR foeren
(b) T HIE AT

@

; Lda
93. STl TEar ik st et feraeT et W ga
oy

91'!'" !F:, i
' : £
[(a) stz v
(b) hetenTl P
(c) T

(d) @R
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94. Which of the following part of brain is known as

‘little brain’ ?
© Cotrm
(c) Pons (d) Medula

95. Blood is a type of
(a) Muscular tissuq
(b) Epithelial tissue
(¢) Nervous tissue

5
\ (d) Connective tissue | (&

96. Given below are two Statements, one is labelled as

Assertion (A) and other is labelled

Reason (R).

Assertion (4) : Amphibians can tolerate mixing of

oxygenated and deoxygenated blood.

Reason (R) : Amphibians are animals with two

chambered heart.

Select the correct answer using the codes given

below :

(a) Both Assertion (A) and Reason (R) are true,
but Reason (R) is not the correct explanation
of the Assertion (A).

(b) Both.Assertion (A) and Reason (R) are true
and Reason (R) is the correct explanation of

__the Assertion (A). .

A) 1s false, but Reason (R) 1s true.

as

97. ‘Knock-Knee’ Syndrome results due to the
pollution of -
| (a uorides (b) Heavy metals
(c) Nitrates (d) Phosphates

98. Which of the following are water-soluble

vitamins ?
(a) Vitamins B and D
(b) Vitamins A and B

(d) Vitamins C and D

UNHSIV-01

94. ﬁnf%{ﬁaaﬁﬂuﬁaﬁﬁmaﬁq-mmﬂ‘agnﬁaﬁﬁ’

FHEATT 8 2

G oo

(© r?p)
95. TR T AR ":3 2

(@) Uefa T Poom

(b)" AT Frcieh

(c) ifem sam
96. T A W

TR (A) ST TER I AT (R) FETTRTE |

BT (A4) : ST AT TAT SRR T

%ﬁaﬁaﬁrwaﬁ%um

FR (R) -m@rm&%maﬁwﬁ%l

:ﬁ%ﬁqnqagewmmuﬁwwwﬁﬁq

(a) AR (A) aﬂr;ﬂm (R) 3T T 8, T
FHROT (R), ARG (A) I Tt == T8
HATe |

(b) AR (A) 3R FR (R) IHT T § AR
HAOT (R), ARTHY (A) il TE SRS e
2

| (c) IARERYT (A) T B, Trg HRT (R) T & '

(d) AR (A) T 8, TG HRT (R) T8 |

97. HHArREHM_ FIRTIHHRUEAL |
(@)oo | & @) g
(c) T 00 (d) REheH

52
<

98. FmiRRae & Aot i geeier e § 2
(a) T B 3RtD
(b) Tt A 3B
(c) ffimBaitcC

o

(d) fe@rfimcaitp



*21*

|

5
3

i
b
E
j

A
4

99,

100.

101.

102. ‘Kisan Call Centre’ was started by

Match List-I with List-Il and choose the correct | 99, F=ii-I a—ﬁaﬁ-ll@f@ﬁ-lﬁfﬁﬁm e fleg Ty e

answer using the codes given below :

List-I List-IT
(Crops) (Diseases)
Paddy i.  Wilt disease
Wheat ii. Black Rust -

Sugarcane  iii. Red Rot

o awp

Pigeon Pea iv. Brown leaf spot
Codes :

(a) A-i, B-iii, C-ii, D-iv
(b) A-ii, B-iii, C-iv, D-i
A-iii, B-i, C-ii, D-iv
A-iv, B-ii, C-iii, D-i

Which fruit ranks first in India in terms of
production ?

@ Mo

(c) Guava (d) Papaya

Which of the following belongs to cash crops ?

I. Potato

II. Rice -

III. Sugarcane

IV. Cotton

V. Rapeseed

Al

Select the correct answer from the codes given
below :

(2) I IandII

(a) ICAR _
(b) Ministry of Agriculture and Farmers
Welfare, Government of India
(c) State Agricultural University
(d) NABARD

QR

102. “f3peT it Sev st ysTE -

UNHSIV-01

T SRINT S R S T

() (@ <
A. 9F i ST
B. T T
C. T iii. A wE
D. 3IH v, SIS % &
He :

(a) A-i, B-iii, C-ii, D-iv
(b) A-ii, B-iii, C-iv, D-i
(¢) A-iii, B-i, C-ii, D-iv

A-iv, B-ii, C-iii, D-i

. 7=

V. s
V. e T (WHiE)

i fo 7T e F & Wt I BT T IS
(@) I IIARII

(b) L IARIV o

@ 1, HIT V (8P
i

e

ot | '
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103. Deficiency of which of the following elements
causes yellowing and poor growth of the plants ?

(a) Phosphorus
0 oCI Z
(c) Calcium 2
(d) Boron gg
104. Which one of {1ié following pairs (Folk dance —
Place of Origiri)is not correctly matched ?
(a) Kaikottikal — Kerala
(b) Himachali — Kullu Valley
(¢) Koli— Maharashtra

(d) Yakshagana — Rajasthan

105. Match List-I with List-II and choose the correct
answer using the codes given below :

List-I ?}; List-IT
(Buddhist tex() (Content)
. . oY . - s
| A. Vinaya Plta]%} i. Regional histories of
e Buddhism

G B
B. Sutta Pitaka ii.
C. Abhidhamma

Buddha’s teachings

. Rules for those joining

iii
Pitaka the Buddhist monastic
order
D. Mahavamsa  iv. Philosophical matters
Pitaka
Codes :

(@) A-iv, B-iii, C-i, D-ii
(b) A-iii, B-iv, C-i, D-i
A-iii B—w C-ii, D-1

o
106. Which of the fggnvmg is not a Rabi pulse crop ?

(a) Chlckpea,i_.
(b) Lentl '™

Alll

(d) French bean

UNHSIV-01
103. Frerferiaa & & fora o it st 3 shror Ner fie &
ST & T IR gf & T R 2
 (a) HEHRE
=
(c) hIeIRTT
(d) IRH
104. ﬁn%%aﬁ@raﬁqmgm(@mgw I &
T Tt AT 78§ 2
(a) FTEHITEH — I
(b) Temreret — ey wet
(c) et T sis
d) I& — ST : 4

105. -1 %1 T=ft-11 & gafer v o = R e
=T JENT T TR ST :

gl g=-I
(@1 77¢) (o7 -a7g)
A. T fies sg o & &
e
B. ¥ fie® ii. &t Rremd
C. A fies il NguSd Wi B
et o forg, forem
D. mEEwfies  iv. anifemame
%e:

(a) A-iv, B-iii, C-i, D-ii
(b) A-iii, B-iv, C-i, D-ii
(c) A-iii, B-iv, C-ii, D-i

106, F=fafea & @ B-dt & @it i owh woe 78
??

(a) . =T

(b) g
(d) 89 Y Beft (beer sfi)
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107. Which State Goverqment has started the scheme
‘Nivesh Mitra’ ?
(a) Tamil Nadu

(b) Madhya Pradesh
| (¢) Uttar Pradesh
(d) Maharashtra
108. What is the name of the third volume of
Akbarnama written by Abul Fazl ?

(a) Sulh-i-Kul
(c) Manzil-Abadi
(d) Sipah-Abadi

109. How much were India’s foreign exchange reserves
at the end of December 2024 ?
(a) USD 629 Billion

b) USD 578 Billion

(

USD 653-97 Billion

110. Which among the following is the largest Stupa in
the world ?

(a) Dhamek Stupa

b) Sanchi Stupa
| (c) Kesariya Stupa
d) Bharhut Stupa

111. Before his death in 1539 A.D., whom did Baba
Guru Nanak choose as his successor ?

(a) Guru Namdev
(b) Guru Tegh Bahadur

(c) Guru Arjan

112, Which state has the largest economy in India ?
(a) Gujarat '
(b) Tamil Nadu

¢) Uttar Pradesh
d) Maharashtra

107. Feer fier Jser fore TS SRR gRT IR ot T

7?

(a) dfrEg

(b) WA T
(d) ¥WEWE g

108. T W et I forelt 77 Sraperteray <ht <fterdy fres st
FTAHR ? :

(a) T

(c) HiST-3TTaTat
(d) Terog-aremdt

109, fewar 2024 3 37 7 e w1 faaeft e sigw e
97 ? Ko

(@) 629 ﬁﬁwmﬁﬁﬁ@ﬁm

(b) 578 faferm sl <

J

110. Frforiea & & forva 1 oe@ e WU HA-aT g ?

(@) Hﬁiﬁﬁg
(b) Wi
(d) TEARM|:

111. 1539 éﬁma@%qﬁw?mﬁm
() TEAMIE
(b) T T STETST
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113. Who among the following was the first Indian to
be awarded the ‘Bharat Ratna’ ?
{ (a) C.Rajagopalachari
b) Pranab Mukherjee
(c) Abdul Ghaffar Khan
(d) Nelson Mandela

114. Among the following, which ‘one is the statutory

(a) NITI Aayog
((5), Finance CommISsIon 7y
(c) Planning Commission

(d) Labour Commission

115. Distribution of Taxes between Centre and States
in India is done by the :
i Dlanning ission
(c) National Development Council
(d) Parliament
116. Which of the following critics used the term
“Quasi-Federal” for the Indian system of
government ? L
(a) Jawaharlal Nehru

b) Laski
!d) B.R. Ambedkar

117. Estimation of National Income in India is done by

the :

118. Which among the following ié.-.fi;ot a part of the
Governing Council of NITI Aayog ?
(a) Chief Ministers of Delhi and Puducherry
(b) All Chief Ministers of States
(c) Lieutenant Governor of Andaman and
Nicobar Islands

d rovernors of States

113, Frefifa & & “uwd & G S AT e

(d) ﬁ%qﬁ%w
114, FrefrRea i & - w Senfoes Gen e ?
(a) e s

() EE;*E gs;a

(d) 7 TN

115, ST 3 35, S TAT 35 Fe2 Bl o fofaieeT Sheell § :
(a) ST SR

(c) g forehmer aiesa
(d) @&
116. FrefrRae o & e el = YR e Saen
¥ foru “orel-deTeReR” Y158 i SRINT foRaT ?
(a) ST o®
(b) ST

@ a3, SIS =i
117. I 3 TS T T ST T S -

(a) T AR WA

(b) ST AR

118. Trfifaa o & 3 Afcr ST 3 wreEhE aiee
e T@ BT s ?
(a) ﬁﬁﬁaﬂtﬁaﬂ%ﬂ@ﬁ
(b) Tt et e wft -
(c) IiEHAT T PR HvaE % wftee




o

*25*

.UNHSIV-01

119. In which session of the Congress was the “Purna
Swaraj” resolution passed ?
(b) Calcutta session
(¢) Lucknow session
(d) Madras session

120. On defeating which politician, did Subhas
Chandra Bose become the President of the Indian
.National Congress ?
(a) Sardar Patel
b) Jawaharlal Nehru
(c)_Pattabhi Sitaramayya § —
d . Rajagopalachari &

121. Match List-I with List-II and choose the correct

answer using the codes given below :

List-I List-IT
A. Jat Rebellion i. 1554 AD.
B. Bundela Rebellion ii. 1672 A.D.
C. Satnami Rebellion  iii. 1669 A.D.
D. Sikh Rebellion iv. 1675 A.D.
Codes :

_(a) A-ii, B-iv, C-i, D-iii
(b) A-iii, B-i, C-ii, D-iv
' (c) A-iv, B-iii, C-11, D11
(d) A-i, B-ii, C-iv, D-iii

122, When did the Anti-Partition Movement begin with

a massive demonstration at the Town Hall, |

Calcutta ?

[ _7th August, 1905 |
(b) 5th August, 19

(¢) 16th August, 1905
(d) 16th October, 1905

123. Which of the following countries did not
recognize the Azad Hind Government ?

0 Gty

(c) Italy (d) Philippines

119, 53 35 e RT3 Sl e 1 T e

(b) - T

(©) maﬁaw

(d) s ITREYH

120. wwmﬁmmaﬁrwﬁmmw
TS DT o eI 51 & 2

(a) TR U
(b) SIS T
lllfiiﬂt;li{m_
(d) . TS
121. wlﬁ@-nﬁgﬁ%ﬁaﬁﬁqaﬂtﬁﬁqw@

6T SRR 3 TeT I G :

Gll-1 Gell-11
A “efRE i 1554%.
B. sawn fasie ii. 1672%
C. waan fge iii. 1669%.
D. ' 1675 3.

(c) A-iv, B-m, C-ii, D-i
(d) A-i, B-ii, C-iv, D-iii
122, AT % 1S9 B H Ush foene el & @y

forrsT 3 foe § STidier et R 31T 2
(a) 7 3T, 1905 3 |
(b) 5 0T, 1905 I
(c) 16 3T, 1905 T

(d) 16 TR, 1905 Tl

123. ﬁmﬁi@aﬁﬁ%&%ﬁmﬁﬁﬁmaﬁ
m:m::ﬁ‘q"reﬁ'?
© 32?“

(b) S
(d) Trferdta
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124. Which of the followmg pairs is mot correctly
matched ? -

Ryotwari System Mad:as

d

Match List-I with List-II and choose the correct
answer using the codes given below :

List-I List-IT
- Kushanas Devaputra
Pulakeshin II Sakalottarapathanatha

125.

i
ii.

Harshavardhana iii, Dakshinapatheshwara

O oW

Samudragupta iv:’ Kaviraj

Codes : %
@ Adi B, Ci, D1
(b) A, Bifi, C-i, Div
(c) A-m, B-w C-u i

126. For whiéh of the following rulers, is it said in the
‘Udaipur  Prashasti’ that “He achieved,
accomplished and made possible everything that
could not have been done by anyone else” ?

(a) Vakpati Munja ;.
(c) Mihira Bhoja
(d) Sindhuraj y;

127. Which of the following kings stated that “All our
people should create the good deeds, free from all
disasters, enjoy the joy with minds unpolluted
with jealousy” ?

(a) Chandragupta Maurya .
(b) Ashoka

(d) Samudragupta

124. ﬁﬁ%ﬁ%ﬁmww@maﬁ%?

125. geft-1 0 gEfi-11 & gt shifre i i e me e
<HT T o TR ST :
gel-1 -1
L
ga%ﬁﬁ%?ﬁﬂ i, FEARIIT
ii. WW

Eﬂiﬂﬁ iv. SIS

9g1.cos==>

(a) A-ii, B-i, C-iii, D-iv
(b) A-ii, B-iii, C-i, D-iv
(c) A-iii, B-iv, C-ii, D-i
(]

126. Freferfea & & fra e % foe seaqE ofa &
HET T & T S0 I Tel 7 T AR Ta O T
fopar Sft ST S or el grr wv A | R

(a) aﬁqﬁrgsr

(©)
(d) TSt

127. Frefifea & & fra e = o9 ® % <eud urd
ISIT ahw T YT ohUcl! 53, T STIaT3 ¢ e,
St & ST T W AT T AT H 2
(a) TSI HE
(b) IEH
(d) S




=

*2?*

UNHSIV-01

128. Which one of the following states recorded the
maximum decadal growth of urban population
. during the period 2001 — 2011 ?
(a) Nagaland
(¢) Kerala (d) Maharashtra

129. Which of the following is an ocean current of the

Atlantic Ocean ?

(a) California current {{(b) Benguela current |

(c) Alaska current d) Humboldt curren

Arrange the following states in ascending order on
the basis of percentage of Tribal population as per
Census 2011 :

I. Madhya Pradesh
II. Maharashtra

III. Rajasthan

IV. Meghalaya

130.

Select the correct answer from the codes given
below :

a) ILIV,ILI (b) LILIIIV
O LILLIVY (&) IV,LILII
131. Which of the following river originates from

Mansarovar in Tibet and- passes through
Shipki La mountain pass ?

(a) Beas
(d) Chenab

(c) Ravi
Which one of the following states was most
_urbanised as per Census 2011 ?

g —

. (¢) Tamil Nadu (d) Gujarat

132.

133. The Brahma temple of Pushkar is in which of the
following states ?

(a) Uttar Pradesh
(b) Himachal Pradesh
: (c) Gujarat

128. Fre=fefea d @ frer oo 9 2001 — 2011 it s@fr &
I e U T SARIan SXehiy g &<t ol ?
(a) TAFTIUS
(c) 3 (d) weTTg

129. ﬁﬁ%@aﬁﬁaﬁqﬁ%&wmﬁmm
g2

o o B e ]
(c) STITE=RT T (d) THIlTe grT
130. 2011 T SFITUMT % SR, FrfoTRaa Tt sl Ser

STISTTERT STHGEAT 3 STerTa 3 STTE 9T 3TaT 360 i
T HIf :

agenes

L. e YexT

I. "eNrg &

M. TS o

e faw e e § & TR S = i

(8 LIV, IL1

(b) LIL I IV
(@ IV,LILIII

131. F=fafee & @ st 7 fGoaa & wredeR @
Feftra Srent Ruehi 1 TeTe & & TSl 8 2
(a) sT®
(c) Tt (d)

132. 2011 i SETOFT % AR e § @ wE-ar

TS T e rediona o ?
(c) d Lo (@) ToRE
133, YRt T s Hfet o @ form v o Rum
L
(a) S TR oon
(b) Temmee W=t
s i
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134. The phenomenon of “urban heat islands™ refers
fo:

(2) Increased tree cover

(b) Decreased temperature in urban areas

bhsumption

(d) Decreased energy--

! -.----.e

135. In which city is thﬁ‘f?‘Nanonal Institute of
Agricultural Econormq*; and Policy Research’

located ? [
&) NewDelhi | () Mumbai
(c) Hyderabad (d) Lucknow

136. Which website has been prepared to monitor the
financial activities of the State of Uttar Pradesh ?

(c¢) NIC (d) Arthashastra
137 Which of the following states of India has higher

number of females than f les ?
a) Tamil Nadu ) West Bengal
(c) Kerala d ) Karnataka

et

(b) Organic manures
(c) Green manures
(d) None of the above

139. Who is the author of the book “The Population
~ Bomb” ?

a) Paul R. Ehrlich § (b) Donald Bogue

c ompson (d) Malthus

140. When was the first Mineral Policy announced in
the State of Uttar Pradesh ?

(a) On December 29, 199
b) On December 29, 1998 |
(¢) On December 29, 199
(d) On December 29, 1999

134, “3ret SoaT E10 o uftere fored gehia = 2
(a) & SATERVT ohi Fferehal
(b) maﬂaﬁﬁmﬁﬁw

135, TR By i 7R Afy srEE™ dem e
e R 8 2

() o o
(c) TEETE (d) TETH ﬁi@

136. SR ST I frfia frameti ot Rt e & fog
F- JeEse LA TER ?

(@) ST

(c) T3S H (NIC)

137. ORa % FrefaRaa 1 9 e s o afgensti it gen
T A © ?

(b) ufEm s
(d) FHAlH

(c) shEe .
(d) Iode H & g T

139. “T GIqEIY 7 7 ATHE Y&ieh & o ST 8 ?
| (a) U1 I el | (b) SHTeSEm

(c) oTaET (d) T

140, 3T R TSI T geelt wivst Aifer e =ifta ft w8
off 7

(a) 29 femm, 1996 F1

(d) 291%@:« 1999ﬁ
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141. T AR ATE IR § :

(a) aa‘mw (b) TR
@ 0

142, aﬁ#’rﬁg&ﬁww%
@ st
(c) Fmsficn (d) ﬂ?ﬁ
143. ﬁnﬁr@aﬁﬁ%&wﬁaﬂqmwaﬁmm

(c) gwmwﬁamm

(d) o qEe e & | |
144. frmfefaa 7 @ Y& 3w s === il

(a) agu%a%“raﬁmtm%l

145, SrEfAREd H T -8 TRy o8- Sl g W &
g7

rfee SIS 1 TR Ha R |

(c) WEW@W '
T4 |
(@) ﬁ%ﬁ#m%aﬁaﬁ%qﬁmml

146. 1Y 1T HT = HIFSTT :
(a) € AN IR UST T R |
(b) & AT I -

¢) SuH I R duusar® |

147. T AT IR WE IR -

a) 99 _ (b) e

(d) o=
148. ﬁnﬁiﬁ‘gﬂﬁ TRy 9158 1 U I R :

OREE (b ﬁﬁr _

(c) S9F

149. FEft-1 o -1 ?Eﬁg?ri%maﬁ\ﬁm 3 Ry e
wuﬁnwuﬁra@gﬁq

Gell-1 f:fﬂa?ff

(¥153) ‘EI’?"_"?”)
A |/ i fofim
B. e ii. Il
C. 3&d  iii. Ifo@™
D, QW iv. I
%

(a) A-iii, B-ii, C31v D-i
(b) A-, B-u, Cﬁiﬁ D-iv

aEi
B
"

150. ﬁsﬁwaﬁ’fqﬁﬁ@m@q%: '

@ st

(c) ¥ TR (d) g —Frfer

151.

eft-1 2Rt -1 4 gRfora shifsrg e e g e ape
<hT RIS HET ST T

gL g
() i)

(b) A-i, B-ii, C-iv, D-iii
(€) A-iii, B-iv, C-i, D-ii
(d) A-iv, B-iii, C-ii, D-i
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152. ‘%o W ARG 6 AT e & ‘T’ Fieq fiwor
FHA-HTAGR ?

e )
Rizugal
Sl

g9
() AT, Ie9, Geieh, Tsfiar
(b) T, B, T, ¥
(c) fe, =reg, g, S
156. Fr=fafaa # & <o1ftr &1 wataar=h 7272 -

(2) TAH b) U
©OFY o

157. wﬁ#’rmgz@ s o &
@) Rdwor 2

=
e
(c) ferersr
@ SEwEITETE

158, F=feiRad & & -8 108 ‘g w1 qaiErE 78
g7
(2) UEewq
© 3

159, Ireifaftad & @ < w1 vatuaTEt 78 R
(a) A9
(b) Fre=m
(c) afeh

160. Freforfam it & s At TR
(a) feremar '

(c) Tetoami
(d) faf

161. m%%aﬁﬁ‘ﬁig’wwhmﬁﬂﬁ%:
(a)
(c) T=Hw@
(d) Il

162. FrifaRaa ¥ ¥ g fasreg o woft yrog wigarh
T2
(a) R, I, 7Y, T
(b) Tard, for, v, e

C Gl -Htﬂ-'[ WGTﬂTUT EISEE
(d) el sTrelt, f, e i

163. Freferiaa & & wmeer s waiger=h 787 & :
a): HHY '
(c) whed
(d) #eT

164, Frfafaa & @ =her w1 uaiaart 78 R
a) T
() 3|
(d) gar
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165. I =ient el 37T |I” I & fasvor sree & -

(@ Rt
166. Feferiea eat & & F-a1 vros qea § 2
(b) IR
(c) T&TST
@ =

e

167. reiferlaa § & ‘o’ v1se 1 =g+ IR
a) L™ <

(c) TETS

(d) -mie

168. reiferiad o & dqeam-awa 1 wd I T R :
(a) wnfes—wt
(b) Hwfd— w

(d =T

169. TCHH-GR 2hi GE U hiH-AT TH HET 781 @ ?
(b) TR — TATS
() #r-gi
(@) Ig-Fe

170. “SirET SfRs 37o HH T & | a3 afearr
355 FerRIT T -0 95 & ?

(c) TEATETE forreor
(d) wreTfireR fersyor

171, “areier 3 g wh vroe o gf & - o

(c) m%maﬁrmuﬁ ST
(d) 3T WISH F 1T — e

172, ¥ Yrsai o e wer wree” 3 Fraforfaa gt &
E'.ﬂ:“_‘a‘[ [

174. ot o1 gt & 7 ioe i e Hifvre :
(a) SEAE O
(c) Toumfafda

2
[Elrser

(d) iCERT

- 175. aﬁtﬁﬁg&@rﬂa{ﬁ%aﬁﬁmaﬁrw

Hifere :

(b) ¥, SUid, HEE, ™

(c) Soier, ST, gagat, Sif¥arf
(d) Sfisfi, e, Sremfenss, waftafteg

176. mﬁgﬁﬁﬁ%aﬁw%mﬂmﬁﬁaﬁ
. IWER?
(a) ﬂnﬁaaasrf%m
(b) s, Ty, ermer
(c) =viceRY, ST, Swjaa
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177. ferrer-femior i g & - Rrer i 2 9
(a) U — ITHR
(b) ScETE — I
(c) o7 e
=== _
178. Freferfea & & fersivor wree w1 9z Hifvre -
(a) fe
(b) =1

=

=
E il

179. mﬂﬁaﬁgﬁmaﬁm%ﬁ“%{mﬁ Rigtr w18
2. i)

(c) TR farsiyur

(d) ulEToETEEs e
180. FEfl-1 1 A1 & oo shiforg sf e e e
6T TR T TR ST
S
(frers) o%ﬁmv
A Ig i fomoor O
B. feme ii. ﬁlﬁﬁ:ﬁr
C. T iii. ﬁ?ﬂﬁ
D. faure iv. 9T '
e :

(=%

(a)  A-i, B-ii, C-iii, D-iv
(b) A-iii, B-i, C-iv, D-ii

: ﬁw%%aﬁﬁﬁww%: &

(d) Tt

182. *9fTTR heh Teh 3T ST oty Tt TRk STRTisT

% feTe STET e R
(b) Teversar
(c) AT
(d) Schfsar
183, ST & T W Y1e” ¥ sreiferRaa et i
HI-4T e ST R 2
(2) <T&T AN T fire &1 — e
(b) 1 L e | )

(d) e sfiferp — TeRmEf

184. “fra =afvs o1 for fomelt oft 3w, whrer o aRtRufer of
USHEHTH Tl &, STieT o5 foTe Ueh Sugperr vreg € -
(a) TR
(b) wwEElt

(d) sTafe

185. 3T AR Y 1 3 Hegerdt shiop Y Fm e £ 2
.

(b) T
(c) “reg
(d) T

186. mﬁmﬁnﬁf@aﬁﬂmw%m

(©) a‘rﬁﬁrﬁﬁﬁe”rﬁmmﬁﬁm%l
(d) TETHIIE AT ST AT F waT R |

187. mmmmmwm HHH-ATZH

e TE R 2
(a) oAU BT SUSHR ! AT ST — Fhels

(d) Gﬁsﬁ:ﬁ%ﬁﬁr e
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188. renferflaa o & “geam vree i Fafda A :
(b) =T
() <
(d =»E
189. Tr=feriaa & & -ur ferey “aeaw’ seg 78R 2
(b) R
¢ ™
(d) S
190, T I16C HT AT EI© :
(a) _
(c) "TIER
(d) ¥R ‘E
191, TcHH-TEd %1 HI-GT faeheT aei & 2

)
() gfres e
(d) WHeH — Tt

192. Tefflea & & a1 qla 1 aET TR 2
- (2) _

(©) i
(d) s

193. “STel fehelt SITeT Bl ST 17 SATRITRT 36 foTe Sugery 97eg

a) fgg (b) feere
T ome
194. 2 U e wrea] # & deem 7@ R

() 7@

(b) 3wTiOr

195, MY T i e & -
(a) TEwTEH

196. TR e s s et o
() TS, T
(b) TR, WST
(d) e, Afervier

197, P & sy et
(@) S —

198. ﬁr-rﬁ‘—rﬁg?ruaﬁ el # ¥ R W W
Hfrg:

199, feferfad et a7 & o wet 78 &
(a) dH-mE
(c) TR =SFR
(d) STERTR

200. foreir shi 5f¥ & frefoien & @ wet wea-gm @ -
(a) eare—faw

(b) e — STeheT
C ST — SIRHA
(d) =g —Toera
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